PCGS series (6,010

B Order form (Example)

PCGS - 6 - 10
I

Model Tube D, Stroke
B Specification
Model PCGS
Acting type Double acting
Tube 1.D. (mm) 6 10
Stroke (mm) 5,10, 15 5, 10, 15, 20
Port size M3x0.5
Medium Air
Max. operating perssure 0.7 MPa
B Features Min, operating perssure 0.15 MPa
Multi—ports as standard enabling both direction mounting. Plieel pressue 1 MPa
) o Lubrication Not required
Non—rotating accuracy + 0.1
i Ambient temperature —5~+60° C (No freezing)
Embedding type sensors. -
) ) o o Available speed range 50~400 mm/sec
The sensor cable will be in the same direction as the piping —
tube if vertical type sensor switch (Angle cable) is used. Sensor switch(*) RDGV
Magnetic as standard * This product is not applicable for stopper purpose
B Cylinder weight it B Alowable lateral load
nit: g
L
Tube Stroke (mm) L ——
1.D. 5 10 15 20
6 | 290 | 34 | 39 | — EE% ’’’’’’’ I =D I
210 a1 49 57 65 =
w ]
| w
I PCGS-26 |
i i -6 —— 260
B nstallation of sensor switch _ 60 240 peosat0 -
= =220
_ 2 %0 = 200
ensor switch RDGV § 40 § 180
Watchr:gkers / E 30 st=5 5138 N st=5
screw driver . 120 st=10
§ 20 st=10 §1oo st=15
10 st=15 80 st=20
0
0 5 10 15 25 3 1o 15 35
Eccentric distance L (mm) Eccentric distance L (mm)
B Allowable rotational torque B Allowable eccentric load s u Operating pressure
: — 0.3 MPa
& Non—rotating accuracy L Lo o 05 MPa o more
T ! \ [
A )ﬂ +0 | | @ | | ‘ @ | S
Y 1 1 \ ! ! =
8=/ mm | Il s
~ — 5 | w L lw A
1 I I+
Unit: N.m ! 1 .S .
Tube Stroke (mm) Non-rotating ! 1 3 il
1.D. 5 | 10 | 15 | 20 | accuracy 6 _ | | - l|
06 [0ofo7fos| —| Tz ZZZ I
@10 | 47 [ 39|33 | 28 o 0.01 ”l
01 1 10 20

Eccentric distance L (mm)



| PCGS Inside structure & Parts list 6,210

B Inside structure & Parts list B Material
) \ Repair kits
@P @ g@ No, Part name Material Qy (inclusion)
EDJ =TT TS 1 |Body Aluminum alloy 1
®\ F\IL ]LI "J ILID;D 2 |Rod cover Aluminum alloy 1
Sy o =1 = — 3 |Piston— H Aluminum alloy 1
@\ N /@ 4 | Piston— R Aluminum alloy 1
@\ —J = /@ 5 | Piston rod Stainless steel 1
~ 7\ L L 6 [ Guide rod Carbon steel 2
7 |Plate Aluminum alloy 1
G)—] | = — /® 8 | Magnet ring Magnet material 1
— 9 | Cushion NBR 1 [ )
12— z 10 | Cushion NBR 1 [ ]
11 | Bush Copper 2
12 | Piston seal NBR 1 [ J
13 | Rod seal NBR 1 [
o 14 O ring NBR 1 [ J
B Order example of repair kits 15 [Scrow Carbon sieal 1
Tube 1D, Repair kits 16 | Screw Carbon steel 2
26 PS—PCGS—6
210 PS—PCGS-10
| Dimensions
L+Stroke R
BC FC L1+Stroke 2-UN depth MA MB|
2-2Q thru
(Mounting holes) ! !
ANl @/ JM\ o
NS : A Yoe
: (} we i @ ar > 8 & =
4 AL
B . L L
I I ) Ao
kj N.2-EF I \\J 2-M3x0.5 W
—— E— _
BD FD N1 N2 ZZA S _|\4-XB depth
G TA (Mounting holes)
Tuf,‘ff[)_ A |[BC(BD|CP|CQ| D | E EF FC|FD| G | H | L |L1[MA|MB|[N1|N2
6 28| 9| 6 |20.5| 15 [20.5] 9 [M2,5X0.45 thru| 45 |35 |95 29 | 23 (185| 6 3 7 4
10 [ 3210|7523 |175[23 | 11 | M3x05thru | 6 | 5 [85(33|25|19| 8 (35| 7 |45
Cod
eoN O [P |Q|R|[S|TA| UN XB ZA
6 2 (205133 (145]| 6 | 12 | 86.2X0.5 [ M3X0.5X5| @ 1.2
10 3 [23]|43[17]|75| 15| 88x05 | MAX0.7X5| @2




PCGS series (s12~g63)

W Specification

Model

Acting type Double acting

Tube 1.D. (mm) 12,16 20,25,32,40 | 50,63

Port size M5X0.8 Rc1/8 Rc1/4

Medium Air

Operating perssure range 0.1~1 MPa

) Proof pressure 1.5 MPa

Ambient temperature —5~+460° C (No freezing)
Cushion With rubber cushion pad
Proven track record in manufacturing precision guided cylinders, Available speed range 50~500 mm/sec
gﬁglh I;’slﬁz 22 ;Stipgard enabling two direction mounting option. Lubrication. Not required
Inbuilt high density ruober pad absorbs energy at the end of siroke, Sensor switch RCE. RCE1, RDEP

Magnetic as standard

| Order form (Example)

D Purpose / Type of bearing

Code Purpose / Type of bearing
BCES -0 -l -Ba-Ra-Ea Eae
¢ ¢ ¢ 07 | Stop / Slide bush / Stroke adjustable
Push / Linear beari
Model @ i Stroke i 23 (éjcfd\d/a\!gghra 'ibl\'g%or the use as a lifter)
Purpose Tube 1.D. Adjust Stroke 27 Push / Linear bearing / Stroke adjustable
Type of bearing (for 07, 27 type) ps (Could attach a table for the use as a lifter)
@
Port Thread @ Port Thread
Blank | M5x0.8(or ¢ 12, @ 16)
Blank [ Rc thread
G G thread
B Table for standard stroke NPT__| NPT thread (ior 212, o 16)
Series variety | Tube Stroke (mm)
(Bearing type) 1.D. |10 |20 [25 |30 |40 |50 |75 [100[125]150{175[200[250/300[350[400|
012 M |nstallation of sensor switch
@16
PCGS-03 220 —
a 25 —|
PCGS-07 (2= —
(Slide bush) |23
@ 40 —|
%50 _— Sensor switch
o " RCE,RCE1
263 — Sensor switch
912 / RDEP
216 ~
@20 _— NJ Watchmakers
- an
PCGS—23 e — <__/screw driver
PCGS-27 = —-—
(Linear bearing) 2
@40 —
@50 —
@63 —

* Tube 1D, @32: 25mm for the shortest standard stroke.



| PCGS Capacity g 12~ 63

B Capacity graph . .
pacity grap = Capacity for the use as a lifter
Capacity for the use as a stopper -V
. Allowable eccentricity load for the use as
| v z | a liter (at supply pressure 0.5 MPa)
- £
= i Show the dynamic allowable value at
| | . L(mm) eccentricity from the center of the
i i | guide rod.
i | ’
y 7 H Slide bush HLinear bearing
Linear bearing type is not PCGS-03/07 PCGS-23/27
available as a stopper.
- . L 212~232...10-50st 212~232...10-50st
W=W:'x T 5 g
) ke 232 e _\ 232
] 3 200 X S 200
Stop capacity For the use of attaching a ° AN ° =
PCGS—-03/07 ..30s! gl2~g32 plate to the link bar, choose £ —%@ E _W 420
<300 a bore size referring to the 8 100 TIPS 8 100 016
5 \ o — o L—
< 532 formula below. 9] L 212 9] :\& 012
[0} (0]
'%200 W: The maximum weight ] § = ] &E\
g \ of the work carrier in g o 100 200 300 2 o 100 200 300
- e the above graph for Z . = .
o ‘ ; Eccentric throw (mm) < Eccentric throw (mm)
£ 100 IS the stopper's capacity.,
©
o
™ a2 N - 212~232...0ver 51st 212~p32...0ver 51st
S I —— . =z z
= 0 20 30 Coefficients for s o3 s e32—
Work carrier speed (m/min) conversion 3 200 \ 3 200 \
Tube I.D | £ — £ FE=
S "E "E
PCGS—03/07 ..25s! @i0~¢h3 @ | 020 @ L o20 [\
e / #12 40 I 8 10 ey
3 - "o 216 42 % e - % N
.-5) 43188 250 < 220 42 g 0 100 200 300 g 0 100 200 300
2 200 B2 \ 825 42 < Eccentric throw (mm) < Eccentric throw (mm)
Q
E 100 832 44
© 240 72
%‘ 50 ?40~263...25-50st #40~363...25-50st
2 30 850 78 = 083] ‘ Z 1000
5 10 20 30 40 50 263 78 o 1900 o ous- T \
Work carrier speed (m/min) 2 L o 438 Y
Q o 200
£ 100 £
B Normal lateral load g g
50
PCGS-03/07 ...30st o s <
B E 30
1000 g 1 g
3 10 20 30 50 100 200 3 1235 10 20 50100 200
s < Eccentric throw (mm) < Eccentric throw (mm)
3
2 500 -
3 o2 é | 040~63...0ver 51st 040~063...0ver 51st
5 — Z 2000 263 Z 1000 (282
- 1 = A = :
212 - 1000 - 250
1 — B 500 ?\’ 240 g §§§ o4
0 02 04 06 08 1 o 300 o 200 NN
Working pressure (MPa) ‘g fgg ‘g 100
3 3
- 3
2 % 2
S 10 ©
3 10 2030 50 100 200 3 10 2030405 100 200
< Eccentric throw (mm) < Eccentric throw (mm)




| PCGS Capacity @12~ 363

Bl Capacity table
Allowable lateral load

w

&
N

Shows the dynamic allowable value,
when actuating the cylinder with lateral
load W at the guide rods' top (vertical
load against the guide rods).

H Allowable rotating torque

[
/

T

5
)i

Shows the dynamic allowable value,
when actuating the cylinder with a
rotating torque T at the guide rods' top.

B Anti—roll accuracy

[o-o=o T

e The values are the deflection
angle against the piston rod.,

e Exclusive factor of the guide
rod” s deflection.

Unit: N
Tube ) Stroke (mm)
D Bearing type
LD, 10| 20| 25] 30| 40| 50 | 75 [100]125 [150 [ 175]200|250(300| 350|400
5 Slide bush 31|24 —| 191161833731 165131210 9 | —| —| —
eI bearng |23 | 17| — 143230 23 9] 211 o[B8 [6 | | —|—
Slide bush 50| 39| —| 32| 27|24 |54|45]| 27242111916 —| —[ —
216 Linear bearing | 36 | 29| —|[24[59]52 403320 | 17| 151310 —| —| —
20 Slide bush — | 51| — 4439|3554 |46 | 7416659 |54[28]|24]21 |19
2 Linear bearing | —| 43| —|[ 36|98 |87 |69 |57 |46]40]|36|32|32|27]| 23|20
225 Slide bush — | 68| —[59]52]|46|72]|61[98|88|79[72]53]|46(41]37
Linear bearing | — | 67 | — | 56 |148[132|105]| 87 | 70 | 62 | 55| 50 | 42 | 36 | 30 | 27
332 Slide bush — | —[165] —| —]129]106| 90 |138[123] 111 [101]| 88 | 77 | 68 | 61
Linear bearing | —| —|104] —| — | 74 |165]138| 114|100/ 90 | 81 | 66 | 56 | 48 | 42
40 Slide bush — | —|203] —| —|164]182|159]142|127]190[174]150[132]118]106
2 Linear bearing | —| —|113| —| — | 78 |129]106|130]|114|106] 95 | 78 | 67 | 58 | 50
Slide bush — | —[296] —| —|245[273|241]|216]195|190[174[150]132] 118|106
250 Linear bearing | —| — 120 —| —| 83 [178[148]148]129]106| 95 | 78 | 67 | 58 | 50
63 Slide bush — | —|296] —| —|245|273|241]|216[195| —| —| —| —| —| —
2 Linear bearing | — | — | 117 — | —| 81 [176[145]| 145|126 —| —| —| —| —| —
Unit: N.m
Tube . Stroke (mm)
Bearing type
LD. 1020 [ 25]30| 40|50 | 75 [100]|125[150[175]200|250[300| 350|400
5 Slide bush 0,64]0.48] — [0.39[0,32]0.28|0.75[0.63]0.15]0.13]0,12|0,11[0.09 —| —| —
21 Linear bearing ]0.47[0.35[ — [0.29(0.71]0.62(0.40(0.38/0.13|0.11]0.09|0.08|0.07] —| —| —
6 Slide bush 1.14)0.90[ —]0.74[0.63]0.55]1.23[1.04]0.31[0.27]0.24]0.22|0.18] —| —| —
21 Linear bearing 10.84|0.66] — |0.54|1.35[1.19]|0.93[1.76]0.23|0.19[0.17]0.15|0.12 —| — [ —
320 Slide bush — |1.14] —]1.21]1.07]0.95[1.49]1.25|2.03|1.81]1.63]1.48]0.37(0.32]0.29|0.26
Linear bearing | — |1.19] —]0.99]2.69[2.40]1.891.56]1.26|1.10[0.98]0.88]0.43[0.36]0.31(0.27
325 Slide bush — |2.19] —[1.88]1.65|1.47]2.31]|1.94[3.15]2.80|2.52[2.30]|0.85|0.74[0.66/0.59
Linear bearing | — [2.14] — [1.79[4.74[4.22[3.36(2.78[2.25[1.981.76| 1.569]|0.68|0.57]0.49|0.42
> Slide bush — | —|6.61] —| —15.16]4.23|3.59|5.52|4.93]4.45|4.06]1.72{1.50]1.33]1.20
23 Linear bearing | — | —|4.17] — | —[2.95]6.60]5.52|4.56]4.02(3.59|3.24[1.29]1.09[0.94[0.82
40 Slide bush — | —|7.00] —| — |5.66|6.27]5.48|4.87]4.38]5.21]4.79]4.13[3.63(3.23[2.92
2 Linear bearing | — | —15.24] —| —[4.25|7.19]6.33|7.81]7.11[2.93]|2.61(2.16]1.83[1.58[1.39
Slide bush — | —|13.0] —| —]10.8]12.0]10.6[9.50|8.60]5.885.41]4.66|4.09(3.65|3.29
250 Linear bearing | —| — [7.02| —| —|5.76[12.3[10.9]11.2]|10.2|3.30|2.94|2.43|2.06|1.78(1.57
Slide bush — | — 147 —| —|12.1]135/12.0[10.7]19.69] —| —| —| —| —| —
263 Linear bearing | — | — |7.77| — | —|3.35[13.7[12.2[125|11.4] —| —| —| —| —| —
) Anti—roll accuracy
Tube |.D. Bearing type 3
212 Slide bush +0.09°
Linear bearing +0.06°
216 Slide bush +0.08°
Linear bearing +0.06°
520 Slide bush +0.08°
Linear bearing +0.03°
5 Slide bush +0.07°
225 Linear bearing +0.05°
@32 Slide bush +0.07°
Linear bearing +0.03°
Slide bush +0.06°
240 Linear bearing +0.08°
Slide bush +0.05°
250 |inear bearing +0.06°
Slide bush +0.05°
263 Linear bearing +0.06°

47



| PCGS—03 Inside structure & Parts list

212~332

=
PP

®

AL

®
RS
N

4] |7

FUBNRAN

q
R

oot

O

INRRNANNY

Of
®

B Order example of

B Material repair kits
No. ;::i;ge 12| 16|20 | 25| 32| 40|50 |63 |ay P fobe Repair Kis
1 | Body Aluminum alloy 1 212 PS—PCGS—12
2 | Bal Stainless steel 1 216 PS-PCGS-16
3 | Slide bush Bronze alloy | Bearing alloy | 4 220 PS—PCGS-20
4 | Rod cover Aluminum alloy 1 225 PS—-PCGS—25
5 | Head cover *) | Carbon steel | Aluminum alloy 1 232 PS-PCGS-32
6 | Rod packing NBR 1 ) 240 PS—-PCGS-40
7 | Cover ring NBR 2 o 250 PS—-PCGS-50
8 | Snap ring Spring steel 2 263 PS—PCGS—63
9 | Piston rod Stainless steel Carbon steel 1
10 | Piston - Aluminum alk?\/ 1 .Cy"nder Welght e
11 | Magnet ring Magnet material 1
Basic weight Stroke 5mm
12 | Magnet holder Stainless steel Aluminum alloy 1 Model | “prgs—o3 PCGS-03
13 | Piston packing NBR 1 ® Tl
14 | Head cushion NBR 1 [ ] 1D,
15 | Bolt SCM 1 212 191 21
16 | Plate Carbon steel 1 @16 283 28
17 | Guide rod Carbon steel 2 @20 450 45
18 | Screw SCM 2 @25 670 63
19 | Rod bush — Bearing alloy 1 @32 1,210 90
20 | Piston bolt — SCM 1 @ 40 1,474 88
21 | Rod cushion NBR 1 o @50 2,540 140
22 | Piston gasket — NBR 1 o @63 3,295 151

* Aluminum alloy




| PCGS—07 Inside structure & Parts list

212~316

220~232

S

1\

RNSNIY

©@

N

OBEHEd

I

4447/4
=

240~263

NGRS
‘ \&

]

1 @

bhise b b

:*—@

&
5"

fah)
N

fah)
%)

s

2
b bbb ddddd

B Material
No [N D 15 | 45 | 20 | 25 | a2 | 40 | s0 | 63 |y |Repar Kis
Part name (inclusion)

1 Body Aluminum alloy 1 u Orde.r e).(ample Of
2 | Ball Stainless steel 1~3 repair kItS

3 | Slide bush Bronze alloy Bearing aloy | 4 T\USe Repair kits

4 | Rod cover #1 Aluminum alloy 1 =

5 | Rod cover #2 Aluminum alloy 1 212 PS—PCGS—2-12
6 | Rod packing NBR 2 ° 216 PS-PCGS—2-16
7 | Cover ring #1 NBR 1 (] 220 PS—-PCGS-2-20
8 | Piston rod #1 Stainless steel Carbon steel 1 225 PS—-PCGS—2-25
9 Piston rod #2 Stainless steel Carbon steel 1 @32 PS—-PCGS—2-32
10 | Piston Aluminum alloy 1 @40 PS—-PCGS—2-40
11 | Magnet ring Magnet material ! @50 PS—-PCGS—2-50
12 | Magnet holder Stainless steel Aluminum elloy ! 263 PS—PCGS—2—63
13 | Piston packing NBR 1 [ ]

14 | Head cushion NBR 1 [ ]

15 | Bolt SCM 1

16 | Plate Carbon steel 1

17 | Guide rod Carbon steel 2

18 | Bolt SCM 2

19 | Cover ring #2 NBR 1 [ ]

20 | FBC board Carbon steel 1

21 | Rod cushion NBR 1 [ ]

22 | Gasket PU 1

23 | Adjustable nut Carbon steel 1

24 | Nut Carbon steel 1

25 | Bolt Stainless steel SCM 2

26 | Screw Bronze alloy Carbon steel (%) 2

27 | Washer PET — 2

28 | Snap fing Spring stecl T * The material changes into bronze
29 [ Bush — | Bearing alloy 2 alloy when the part thread is BSPF.
30 | Piston gasket NBR 1 [ ] (JISPF)

49



| PCGS—23 Inside structure & Parts list

320~@32

Y

o
)

Thdds

(3

1~

D | a7)

2

Iy 11

T 13
—0— i

Iﬁ;\—lﬁ\

obdooe

B Order example of

B Material repair kits
No, ;:fi;g'e 12| 16|20 | 25|32 |40 | 50| e3|ay ?ﬁgi‘;gg b Repair ks
1 | Body Alurinum alloy 1 212 PS—-PCGS—12
2 | Bal Stainless steel 1 216 PS-PCGS—16
3 | Linear bearing — 2ord 220 PS—PCGS-20
4 | Rod cover Aluminum alloy 1 225 PS-PCGS-25
5 | Head cover ) | Carbon steel Aluminum alloy 1 232 PS-PCGS-32
6 | Rod packing NBR 1 ) 240 PS—-PCGS-40
7 | Cover ring NBR 2 o 250 PS-PCGS-50
8 | Snap ring Spring steel 2 @63 PS—-PCGS—-63
9 | Piston rod Stainless steel Carbon steel 1
10 | Piston Aluminum alloy 1 ] Cylinder Weight -
11| Magnet ring Magnet material 1 — unit: g
- - Model Basic weight Stroke 5mm
12 | Magnet holder Stainless steel Aluminum alloy 1 PCGS—23 PCGS—23
13 | Piston packing NBR 1 @ Tube
14 | Head cushion NBR 1 o D.
15 | Bolt SCM 1 @12 211 18
16 | Plate Carbon steel 1 216 260 30
17 | Guide rod Special steel 2 320 470 45
18 | Screw SCM 2 325 740 60
19 | Rod bush — Bearing alloy 1 @32 1,170 85
20 | Piston bolt — SCM 1 @ 40 1,300 98
21 | Rod cushion NBR 1 ® 250 2,360 150
22 | Piston gasket — NBR 1 (] ?63 3.010 168

* Aluminum alloy

50




| PCGS—27 Inside structure & Parts list

012~216

®@ (e () (MH(D (9D

287997

\

@X@G@

240~263

Re)
®
®

!K.I_‘.
®

7 g 18
I\ ,_%- | g ﬁ} ﬁ
‘ | | @ ‘
o e | L
i ' + :ﬁ_’_ /@ 3] ol /®
= = i
\}:h— :i::
T3 0
i l‘;
@
@
©,
I @)
B Material 1
No. | N—peD | 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | ay Eﬁgﬂ;gﬁ?
1 Body Aluminum alloy 1
2 | Bal Stainless steel 1~3 u Orde_r example of
3 | Linear bearing — 2ord repalr kItS
4 | Rod cover #1 Aluminum alloy 1 Ttnge Repair kits
5 | Rod cover #2 Aluminum alloy 1 —
6 | Rod packing NBR 2 0 gi2| PS-PCGS-2-12
7 | Cover ring #1 NBR 1 [ 216 PS-PCGS—2-16
8 | Piston rod #1 Stainless steel Carbon steel 1 20 PS—PCGS—2-20
9 [ Piston rod #2 Stainless steel Carbon steel 1 325 PS—PCGS—2-25
10 | Piston Aluminum alloy 1 232 PS—PCGS-2—32
11 | Magnet ring : Magnet material : 1 240 PS—PCGS—2—40
12 | Magnet holder Stainless steel Aluminum alloy 1
13 | Pision packing NBR 1 0 EEl  PS-PCGS-2-50
14 | Head cushion NBR 1 0 963 PS—PCGS—2-63
15 | Bolt SCM 1
16 | Plate Carbon steel 1
17 | Guide rod Special steel 2
18 | Bolt SCM 2
19 | Cover ring #2 NBR 1 (]
20 | FBC board Carbon steel 1
21 | Rod cushion NBR 1 o
22 | Gasket PU 1
23 | Adjustable nut Carbon steel 1
24 | Nut Carbon steel 1
25 | Bolt Stainless steel SCM 2
26 | Screw Bronze alloy Carbon steel (*2) 2
27 | Washer PET — 2
28 | Snap ring #1 Spring steel 1
29 | Snap ring #2 Spring steel 2
30 | Collar (*1) Aluminum alloy Carbon steel 2 *1. Use for stroke 101 or more.
31 | Bush _ Bearing alloy > *2. The material changes into _bronze
32 | Piston gasket NBR 1 D S"SOFTF.VVBTQPSS part hread s

51



| PCGS—03/23 Dimensions g 12~ g 32

BXA L0 x6 depth WB 4-YYxYL depth
- ﬁl .
OO i
/// W
= oXA LS
o~ -~
S =4
(=}
Sl B A
/// : I
| I
Z| WA XX
Back side
S
_ 4-g0A thru L 4- MMxML depth
ANNthru Q Z WA 4-30BxOL depth o
a
— Q
{t) N XX | / ]
Y H— o |
p fan) Y
A" &J} \\J /S
B < T - p— —
| x| o| £> 1 o x| g =) :
X | =
2P =
p CH—O) |
> - 'l
AN 0D 1 b4 S
o — - Hil i
J K GA GB +0.
@XA"'x6 depth "é ~ PA+stroke BXAL5% x 6 depth
FA |FB C+stroke
B+stroke E
Code DB
= B C |DA FAIFB| G [GA|GB |H|J [K | L MM ML NN OA| OB | OL P PA | PB
ube LD. 03 type | 23 type
12 42 | 29 | 6 8 6 85|26 | 11 [15%] 5813|1318 | Max0.7| 10 | MAx0.7 |43 | 80 | 45 [M5x08| 14 8.5
16 46 | 33 | 8 10 8 85|30 11 |18 64|15 | 15| 22| M5X08]| 12 | M5X0.8 |43 | 80 | 45 [M5x08| 15 [100
20 53 | 37 | 10| 12 10 |10 6|36 |105] 85 |85 17| 19|24 | M5Xx08| 13 | M5X08 |52 | 95 | 55 | Re1/8 125 | 115
25 535 ([375| 12| 16 13 |10 642|115 9 96|21 |21 [30[M6X1.0]| 15| M6X1.0 |52 95 | 55 | Rec1/8 |125 [ 135
32 595 [375| 16 | 20 16 |12 |10 581|125 9 |116[ 26 | 25|34 [M8X 1,25 20 | M8X1.25[6.6 | 11.0| 7.5 | Rc1/8 7 16.0
| PW|Q [R|S|T| U |VA| X [xXa|xB| YY |Y|Z
12 18 | 14|48 |22 |56 41556023 | 3 [35|M5X08| 10| 5 PCGS_O3 PCGS_23
16 19 [ 16|54 |25 |62 | 46 | 56|24 | 3 |35|M5X08| 10| 5 Code E Code E
20 25 1187030 |81 |65 (72|28 3 |35|M6EX1.0| 12| 17 Tube LD. \[10~50si]51~100s] 1015~ Tuoe 0. \[10~30si{31~1008| 10151~
25 285|126 | 7838|9165 | 82|34 | 4 |45 | MEX10]| 12| 17 12 — | 185 | 43 12 1 13 43
32 34 [ 30| 96| 44 | 110 80 | 98 | 42 | 4 |45 |M8X1.25 16 | 21 16 — | 185 | 49 16 3 19 49
T 10~-60s1|51~200st | 2018t~ 20~~30st| 31~+100st | 101~2008] 201si~
ode
e i 20 | — 315 69 20 | 10| 27 | 51 | e9
Tube LD. \|  ~39st |40~100si| 125~200si|201si~300s] 301si~ | 20~39st [40~100st|125~200st| 201~300st | 301t~
12 | 20 | 40 [ 110|200 — | 15 | 25 | e0 | 105 | — 26 | — 0151685 25 | 16| 52 | 51 1685
16 o0 I 110 | 200 — 7 57 50 105 — 32 375|425 |180.5 32 |215]| 385 | 585|805
20 24 44 120 | 200 | 300 29 39 77 17 167
25 24 44 120 | 200 | 300 29 39 77 117 167
Code WA WB
Tuoe 0. \| 25~49st | 50~100si] 125~200s]201srv300s| 301st~ | 25~49st [50~100st|125~200st ]| 201~300st| 301t~
32 24 48 124 | 200 | 300 33 45 83 121 171

*1. When stroke length is egual to 19mm or less, GB=7.5 mm
*2. When stroke length is equal to 19mm or less, GB=9 mm

52




| PCGS—-03/23 Dimensions g 40~ g 63

4vY
- BXA 553 xXL depth
‘{(“*’ — T slot for hexagon head bolt
3 *%ﬁ‘i
XB =<
oXA G S
x
O ¢—0O |
T
y ]
S — f%j T slot for hexagon head bolt
‘;2 o ‘ Tu(;zd\_eD_ a b C d €
wB \ xx
XX 40 | 65 [105] 55 | 4 | 11
A Nt | N2 50 | 85 [135] 7.5 [45]135
63 | 11 [178] 10| 7 |185
Back side
4D XX K15 N1 N2 AM
i t
—
EoT | ez
EE— L)
N
S o
i@ i -
- - =
i —HO——O—1—
. o 10" D
o/ A ek
‘ ‘ il ]
E1
oXAxXL dp 5 ! ec| | op/ BB L2
GA
PA+stroke
L1+stroke
L+stroke
== _'a|B|B1|B2|C| D DD Eler|F|a|ealaB|ac|H | K [Ki|L1 M NT| P
40 |120] 54 |27 27 [106|msx1.25] MBx 125x20dp|104] 30 | 44 [ 86 | 14 | 10| 14 [ 40| 118] 12| 44 [e66rm o 11x75m0| 22 [ Re1/8
50 |148]64|32] 22 [130|mi0x 15| Mioxi15x22do|130] 40 | 60 [110] 14 | 11 | 12 [ 46| 146] 16| 44 | o6 @ 1axodp| 24 | Re1/4
63 |162] 78] 39 30 [142|mr10x1.5] miox15x22do[130] 50 | 70 [124] 165 [135 [165 | 58 [ 158 16| 49 [e6tru. oi1axod| 24 | Rei/4
Code
PA|PB |Q1|S [vB|W | X | XA |xB|xC| XL YY e e
Tube |D. 25st | 50,75,100st | 101st~200st] 201~300s] 301~400st| 25st | 50,75,100st | 101st~200s] 201~300s{] 30 1~400:
40 [13] 181610 72]38]50| 4 45| 3| 6 |mexiosxicdp|24| 48 | 124 | 200 | 300 [34] 46 g4 | 122 | 172
50 | 9 (21520 12]92]a7]66| 5 [ 6| a8 |mioxisxecoa|ea| 48 | 124 | 200 | 300 [s6] 48 | 86 | 104 | 174
63 |14 |28 |20[12]110]55]80| 5 [ 6| 4|8 |mioxisxeodp|es| 52 | 128 | — | — [as] =0 | s8 | — | —
Codo L L2 a Code L L2 a
Tube 1D, 25,50st | 51st~ | 25,50st | 51~200st| 201~-400st Tube 1D, 2550st | 75,100st | 101st~|2550st | 75,100st | 101~200st| 201~400sf
40 | 97 | 102| 31| 3 | 635 |@20 40 |81 | 98 |18 15| 32 | 52 | 725 [a16
50 |1065] 118 345 46 | 785 [@25 50 | 93 | 114 [13a] 21| a2 | 62 | 875 |20
63 [1065] 118205 | 41 — |o2s 63 | 93 | 114 [12a] 16 ] 37 [ 57 — |20

53



54

| PCGS—07/27 Dimensions g 12~ g 20

+0.07

WB 33 .50, X6 depth
4-YYxYL depth —H
fig,ﬁ777:|
N 2 i
O+ m 3 B
TR ——————J 7 23100 ﬁ 3t
S — 6 |ag
o4& | g 3
iy **‘E\‘ XX
XX Z| WA
Back side
4-gOA thru
s 4-OBxOL depth L
4NN thry Q Z, WA / E % 4-MMxML depth VB
&
oG] | o 1=l VA > AR
o MC \J
TRy 7R = Hex. on opposite side -
A2/ A\ S MD
N
h e I Y p———— ] S S I 1/ Q < <
Il > }3 l—X%Iia ;F il {E h)/%. s s
& N N—— | :
% % \J% s ] !
> Jl Jll alé -
#3"x6 depth J K 2-P | GA GB MP MK 2P /P8
G PA+ST
FAFB C+ST MT ST MN+ADJ
B+ST MH+ST+ADJ e
B+MH+2xST+ADJ ST = Stroke
ADJ = Adjust stroke
Codl
< B C (DA = FA|FB| G |GA([GB|H|J |K|L [MA|MB(MC| MD |MG|MH|MK|{MN|( MM | ML|MP|MT
Tube |.D. 07 type | 27 type
12 42 | 29 | 6 8 6 8| 5 26| 11 15" 58| 13| 13| 18|27 | 13| 8 [M5X08| 12 | 23| 4 | 13 [M4x07| 10| 2 | 3
16 46 133|810 8 | 8|5 |30 11 |18*| 6415|1522 | 28| 16| 10 |MEX1.0[ 15|26 | 5 | 15 [M5x08[ 12| 2 | 3
20 53 | 37 [10] 12 | 10 |10]| 6 | 36|105|85 (85|17 |19]| 24|33 |22 ] 13 |M8x125/ 20| 26| 5 | 12 [M5%x08| 18| 3 | 4
| NN |[oa|loB|loL| P |PA|PB|PW|Q|R|[S|T|U|VA|X| YY [YL|Z
12 |M4x07| 43 | 8 | 45 [M5x08| 14 |85 | 18 | 14| 48|22 |56 [415] 50 | 23 | M5x0.8]| 10| 5
16 |M5x08| 43 | 8 | 45 |M5x08| 15 |100]| 19 |16 |54 [ 25|62 | 46 | 56 | 24 | M5x08| 10| 5
20 |M5x08| 52 |95 |55 |Re1/8 125|115 25 | 18|70 (30|81 | 55 | 72| 28 [ M6x1.0| 12| 17
Code WA WB Code E Code E
Tupe 1.D. 10~39st |40~100st | 125~200s{| 201st~-300s! 10~39st | 40~100st| 125~-200sf| 201 ~300s! Tube LD. ~50st |51~100s{ 1015t~ Tube 1D. ~30st | 31~100st| 101st~
12 20 40 110 | 200 15 25 60 | 105 12 0 | 185 | 43 12 1 13 43
~39st |40~100st | 125~200si| 201st~-300s} ~39st | 40~100st| 125~200sl| 201st~300sl} 10~50s|51~100s{ 101st~ 10~30st | 31~100st| 101st~
16 %0 24 | 110 | 200 17 | 27 | 80 | 105 16 70 85| 1 M5 [ 19 |
~30st |40~100st| 125~200sf201st~300s] 301st~ | ~39st |40~ 100st| 125~200s201st~300sf] 301st~ ~50st [51~200s{ 201st~ 20~30st | 31~~100st| 101~200s] 201st~
20 24 44 | 120 | 200 | 300 | 29 39 77 17 | 167 20 0 |315] 69 20 10 27 51 69
*1. When stroke length is equal to 19mm or less, GB=7.5 mm

*2. When stroke length is equal to 19mm or less, GB=9 mm




| PCGS—07/27 Dimensions g 25~ 63

BXAT x6 depth B
x
z WA s
4-YYxYL depth
ey "_ -
1 . — A A N
2 XB
O o M X BXA LSS
B r
b=}
B =
ary
A% q\\‘@\_}\L )
A} >
| —— _\___j
| \ | XX
WB \ xx Back side
s 4-gOA thru L
4-g0BxOL depth
z WA E MB
4-NN thru | 2 4-MMxML depth
— S}
D B)¢ S e D NPT
O T | T Hex. on opposite side
XX -
E p'” & @ m o
oN
oot @1 AP PY s
=< S}
7 a! 2
N ] g
BXA"x6 depth — Q 4} s
D e | e oF S
5 G
A $ 1 1 @ T
P 2-P
J K zP GC PB
5 GA GB MP
PA+ST
FAIFB| C+ST VIT ST MN+ADJ| || MK *3T = Stroke
B+ST MH+ST+AD. ADJ = Adjust stroke
PCGS-07 / PCGS—-27 Bl 2ST+ADS
Cod
—= B |c paA—22 ra|FB|G|GA|GB|GC| H [J |K|L |[MA|[MB[MC| MD |MG|MH|MK|MN[ MM |ML{MP|MT
LD. 07 type | 27 type
25 5351375 12 16 13 10| 6 (421115 9 |11.5]1 96 [21 12130 41 | 25 | 17 [M1OX125| 20|27 | 6 [ 12 | M6X1.0|15] 3 | 5
32 595|375 16 | 20 16 | 12 | 10 |51 125 9 [125]|116|26|25|34| 51 | 32 | 19 [M12X125/ 30 | 30| 7 |12 |M8x 125120 3 | 6
40 66 | 44 | 16| 20 16 121 10 |54 14 | 10 | 14 | 12027 |27 40| 60 | 32 [ 19 [M12X125|/ 30 | 30| 7 |12 |[M8X125/20| 3 | 6
50 72| 44 | 20| 25 20 16| 12|64 14 | 11 12 1148|3232 |46 71 | 38 | 24 IM16X 15| 35|38 | 8 | 15 [M1OX15[ 22| 4 | 8
63 77 49 | 20| 25 20 16 | 12 | 7811651135165 162 (3913958 84 | 50 | 24 [M16X15| 35|38 8 [ 15 [M1OX15]22]| 4| 8
| NN |oA|oB|oL| P |[Pa|PB|PW|Q|[R|S|T|U |vA|X |xa|xB|xc|xL| YY |[vL|z
25 MBXx1.0| 62 | 95|55 | Re1/8 | 125135 (285( 26 | 78 | 38 | 91 65 | 82| 34| 4 |45] 3 6 | MeX1.0| 12| 17
32 M8X 1,25 6.6 | 11 | 7.5 | Rc1/8 7 16 | 34 | 30 (96|44 |10 80 (98 [ 42| 4 (45| 3 6 |M8X1.25| 16 | 21
40 M8Xx 1,25 6.8 | 11 | 75 | Rc1/8 | 13 18 | 38 | 30 | 104| 44 | 118 86 |106| 50 | 4 [45| 3 6 |[M8X1.25| 16 | 22
50 M10X 15| 86 | 14 9 Rc1/4 9 (215 47 | 40 [130| 60 | 146| 110 [130| 66 | 5 6 4 8 |M10X15] 20 | 24
63 M10X 1.5 86 | 14 9 Rct1/4 | 14 28 | 65 | 5O | 130 70 [ 168] 124 | 1421 80 | & 6 4 8 |[M10X1.5] 20 | 24
Coce WA wB PCGS-07 PCGS-27
Tube |D. ~30st| 40~100x 12520081 | 2013008 301st ~~309st| 40~100¢] 1252004t | 201~200s | 301st~|
Code E Code E
25 |24 | 4 120 [ 200 300 | 29 [ 39 77 [ 117 [ 67 R —= i
"~ 4981| s0-10041 1252008 |ooreaca| 301er 495t | 501004 1252008 | 201e-2008] 301t Tube 1D. ~50st |51~200s] 201st~ Tube 1D. 20~30st | 31~100st] 101~200st] 201st~
%2 [2a] s 124|200 [ 300 | 33 | 45 83 |21 [z | |25 | O JS151685 1 206 | 16 | S0 | 51 ] 685
~49et| 50~60et| 70~1008] 12520001 2016 a00e] 3018t~] ~ 498t 50605 [ 701008 125200 [oorsa00s] 307 32 | 375|425 805 32 20750t | &17100cl] 101772005 2018t
40 5448 | 48 | 124|200 | 300 | 34 | 46 | 46 | 84 | 122 | 172| | 40 | a1 | 36 |e3s 21.5 | 385 | 585 | 805
~49si[ s0~9st [ 70~ 10081 125~200s foorerons] 3015i~]~ st so~esx | 0~ 1cos] os~anos [rorscond] 30151~ 50 | 345 ]| 46 | 785 40 ~0s 170 OG0T A0 POt
50 24 [ a8 | 48 | 124 | 200|300 | 36 | 48 | 48 | &6 | 124 | 174 oo | e 1 | 82 | %2 | 725
~4gsi[ s~ 1009 12551 ~49si[ s0~100s 12551 63 295 | a1 50 21 42 62 | 875
63 28 | 52 128 38 | 50 88 63 ~69st | 70~100sif 1018t~
16 37 57

55



